oS A8 WHESHE A g, b, ¢ ol HI5FA, a + b + ¢ = Dupelr)?
(3x> —ax—T7) - (x> +2x+b) = cx®> + 5x— 4

(FH) =3x2-ax-T-x>-2x-b
=2x2-(a+2)x—(7T+D)
=cx?> +5x-4

2=c,—(a+2)="5-(7+b) =4

La=-7,b=-3, c=2

w2t A, a+ b+ c = -8 ©|t},




2. 3x+2y=dx-y+2 dZolgstod y2 +2xy -1y o TR A o=
e Y

@ 3y-3 @ y*+y-3 ® 6y +6y-3
@ x>+ 7x-3 @7y2—4y—1

3x+2y=4x—y+25 x 2 AZ5IH x = 3y — 20|t}

Folzl Ao tjdstH

¥ +2(8y-2)-1=y2+6y° —4y—1
=Ty?—4y-1




@ (1-3x+2x?)-2(x%2-4x+1)

1
@ (5x2—|—x—1> - (—1—4x+%x2>

1
@ 7—X+1
X

@x(4x -2)+5

® 4x% - bx —4x2

B

@ (1-3x+2x%)-2(x%—4x+1)
=1-3x+2x2-2x2+8x-2
=5x—1
= A4S ot o|ago] AAH T

®<x+x—> (1 4x + x)

1
:5x +x— 1+1+4x—3x

= 5x

 ojzfapo] e 9o Bz o|2h4jo] ohirh
@ x(4x-2) +5 =4x> - 2x +5 = o|x}Ao|t},
® 4x% — 5x — 4x®> = —5x

= A4S 5HH o]afgto] AAHT




3y

2 2
<§x— 1) AN ax? + by + L olth. olul, A2 a . bol

16
thote] 2(a +b) o g7

® -2 )3 ® 5 @ 9 ® 13




-3~

- =2~

@ 4x%2+12x+9 @ 9x2-12x+4

D)6x%2+5x-6

® 4x2-5x+6

@ 6x2-5x+6

= 3x—2 o]tk

2x+3, Al=2] Zo]

S
=

o 7k=9] Zo]

T
o
Ne)
|
x
o}
l_l
(o]
&
o |
i
o
g

(2x+3)(3x—2)




2(12x+24) - 1—)‘2(36—12x) = Ax® + Bx 2 S U, A - B 9] 3127

o1 @ ® 3 @ 4 ® 5

B

(F=4]) =2x% +4x - (3x— x?)
=3x* + x = Ax*> + Bx

A=3, B=1

L A-B=2




~da-{3a+5b-20a-2- )} =-a-1p 2w, [__]

bl &2 427

® -3b-2a @ -b-4a @b—2a

@ 2a+3b ® 3a+3b

B

~da-{3a+5b-2(a-2b-[ )}
=-da-(3a+5b-2a+4b+2 )
= 4a-3a-5b+2a-4b-2 |
=5a-9b-9  |=-a-11b

[ ]=b-2a




2(4+2) (42 +2%) (44 +2') (¥ +2%) =4 -2 ), I, b
a+bo 27

@ 2 @ 4 ® 16 @32 ® 64

B

2=4-20]B2

(4-2)(4+2)(4% +22)(4* + 21) (48 + 28)
= (42 - 22)(42 + 22)(4" + 2%)(4° + 29)
— (44 _ 24)(44 + 24)(48 + 28)

= (4% - 25)(4° + 2°)

— 416 _ 916

La+b=16416 = 32




(x+A)(x+ B) B AASFAHY 22 + Cx+ 8 ©] HA. tH2 F € 9
ol = 4 gl Z27? (H, A, B, C = Aot}

® -9 @ -6 @3 @ 6 3 9

(x+A)(x+B) =x>+(A+B)x+AB=x*>+Cx+ 8 °|B2
A+B=C, AB =8 o]t}

w2t €= (148, 2+4,-1-8, —2-4)=(9, 6, -9, —6)
oltt.




AA LY (b

= 2H =
L Hade] 95o) Zo))
@ab @ 2ab ® nab @ 2nab ® ra’b?
a
b=2r(r+ 5) = 27r + wra = x(2r + a)
o5 2ol Yol § 2 o
S =n(a+r)?-nr?
= n(a® + 2ar +r? - r?)

na(a + 2r)
a{n(a+2r)}
ab




11, offl B2 2 02 thegld U, £ 22 - v+ 3 0|2, Lol 2]}
2x 5 o] 9lek. o] T4 o] 42 o] AsE FohH?
®-5 ©@-3 O2 @1 G

S5 *
ol® thatAl A2t St
A=2x?x(2x> —4x+3)+2x—5
=4x* - 8x3 +6x% +2x -5
R




12. (a+b+c-d)(~a+b+c+d)+(a+b-c+d)a-b+c+d) &

AN
@ 2ad + 2bc @ 3ad + 3bc @4ad + 4bc
@ 3ad - 3bc ® 4dad - 4bc

~&B

(a+b+c—-d)(-a+b+c+d)+(a+b-—c+d)(a—b+c+d)
={b+c)+(a-d)}{(b+c)—(a-d)}+{(a+d)+ (b-c){(a+
d)—(b-c)}

=(b+c)-(a-d)?+(a+d)?-(b-c)?

= b% +2bc + % — a® + 2ad — d? + a® + 2ad + d* - b? 4 2bc - c?
= 4ad + 4bc







14. the A9) ghe Fahu?

x2yz_ 2Xy+xy2z 1 1
ST SN S
XyzZ ( X 2 > Y 3 s Z )
1 1 1 5
2 3 6 - 0

B

x2yz — 2xy + 9%z
xyz Xz




15.

A=x>-2x+5 B=2x"+x-3 4 W, 5A-(2A+B) Exol &

A0 2 YERYHE?
D 2x2-5x+38 @ -3x2-7x-5
® x2+6x+9 @ —x%4+10x-22

(@)x2 - Tx+ 18

135}
1_.

,B_Jg}t——tﬂfﬂo]-tﬂ
3(x? —2x+5)— (2x* + x-3) =x* - Tx+ 18




